[EE4EHFABRKESO=FTHFE

EHE LR

12H2H(H) 12H2H(H)
£i5| g | B ‘wjﬁ‘- — /L = 24 glE £i5| B | FFE B F—L x5 %4 BT
E % 9:00 |;EF0FA 7'”;; %;j: FI¢oY-) E % 9:00 | & — %ﬁ‘é =#isss| kP9
i34 9:50 |EEEAN BHE || B8 | B g7 9:50 |dbi@ER| - B | BF | ==
N [®] 10:40 | BRI (<2 3| ;A0 RT | 77—+ J\ | @] 10:40 | KPS —  |=msss| Hge | &
E (@] 11:30] Fz + B |[Faf 68 EF (@130 == | — | =E | B:& [d@E0
¥ [®] 12220 [am=a JuwlEEE[xAR] | F([®]1220] B | — [B&|/UE [xa0
A 1®]| 1310 BB L A+ R|smza|oyuy| | B [®]1310|Xka0] — | JUE |[R=] 83
12HA8H (%) 12A8H (%)
=15 I8 | A X F— L TE-#4 BIE =15 I8 | B X TF— L T8 -4 FE
£ | 9:00 | #rEH - 7= HE [XKEH| |5 D] 90 [ &8 | - |EE| BE X85
34 % 9:50 ﬁ% kﬁ%é; 5@;;??? RE 34 % 9:50 jlnhmiﬁ — ﬁ@ ﬁiﬁ;¥4-e g
J\ 10:40 | H = 5 | o—3— J\ 1040 | KB 1B| - | R | &
§ % 11:30 |@#BIFT mE (| & | BB % % 11:30 q:;%( —  |#ea-o| FRE FF?T
1220 & A=A A [2REX 12:20 | ARA — XF (|3 74| K¥K
A [®]1310] & zxx| x& |XE@E| | B[®[1310] X% | — [T« XF | &X
12A9H(H) 12A9H(H)
=15 B | B REEF— L &34 FIE =15 B | B *TEJH‘-—A EEEREE
B @ 9:00 | /JLT — 2-3opE|| KFOHE |[s-omE Zu:i @ 9:00 |E#Hiuy 14450)53#%"@'&1'74‘/71 2021 DEEE
i34 @ 9:50 |4-smpsE b E |[o-noms| KE o3 @ 9:50 |ie-17om= — ﬁ-]-b‘@"zz—zsa)n#% KAZR
J\ @ 10:40 | KFNH 8-9DME| /)T | 2-30mE p'a @ 10:40 |#myr1o52 — zozw)ﬂi'i%'Hz"%ﬁEJJ 14150 E
FE (@] 11:30 [0-11om= KE |[+somzs| hE £ |@] 11:30 |2-moms| — | RAE|[e-romz|$t7 R
¥ [®] 1220 [oomz eopzeosE|@onz| | 2 [B®] 1220 [Oons| — |oopz|comz(oons
A T®] 1310 |[oom= ooiE|OoBE|@nE ® | 1310 |[eomz| — |ooma|dosE|QoBE
1289H(H) 12H9H(H)
=I5 I8 | B ‘wjﬁ—!_\ E-#4 BT =I5 I8 | B *TEEF— L xE-#4 FIE
@ 9:00 |ZBEF 26-2710 8| | K 'S BIFR | 32-3sps @ 9:00 KS — ss-300m|| T & G | wa-asomz
§, @ | 9:50 [z-200m= TG F||oosom=| FHET _ @] 950 |wsoms| — FF 46-47@»; N
J\ @ 10:40 | K=ERIFT 2-BopE|| ZEF |26-2708E % @ 10:40 'F;'é'.é; — w-sopE(| KS  |3s-3vnmz
E | @] 11:30 |se-ssom= FElT ||2s-20om=| FREHFD IG @ | 11:30 |s6-vom= — KIE [|o-somz| EFD
T | ®)] 12:20 |00 QoOBE|COnE| @D E B)] 1220 [OomE| — |[QoBE|oBE|@0BE
B 1®| 1310 [eoms @oOBE|DOBE|QnEE ®| 13:10 |OomE| — |0oBs|OoBE|QOBE
1289H(H) 1289H(H)
=I5 I8 | A ‘Tﬁjﬁ—_/.\ TE-F4 BT =15 B | B X EEF— L FE 54| FIE
% 9:00 |58t so-s1opa||_E = A | se-s1oms % 9:00 | =#5 — 62-63DE|| 5 BFAHET | 6s-c0mpsz
e 9:50 |s2-s3mms TR |[ss-semm=| R AR 9:50 |e4-s5mmE — KA |[onomsz| £ RKIZ
f% @ 10:40 | E&& se-570ME|| S BT AL | so-51mmE i @ 10:40 | 5B AHT — s-coniE|| =45 |e-esomz
jﬁ @ 11:30 [ss-s0mms= BB K||s2-ssomz| Z R lﬂ] @ 11:30 |70-11om= — R I|es-ssom=| Kk
B | 12:20 |DomE QoniE(|onkE|@nEE B | 1220 |DomsE| — |[QoBz|eooBE|@OBE
® ] 13:10 |Onm= @OOBE|DDEE|Q0BE ®] 13:10 [oom=E| — |[@oBs|OolE|QopE
12H16H (H) [ﬁi%ﬁ&maﬂ 1281682 (H) [ﬁi\%&mﬁkl
£i5| B | B HF—L IE-54 BT £i15| B | B B F— L TE-$4] BIE
D] 92:00 A{ti.%,kﬂ# ETTEAEETER D] 9:00 A{tﬁﬁ&ﬂ# ZEHI 8| T HIET
7 | @] 9:50 BHRE&ZERE EHIE|ERE| | 7w (@] 950 BHR&|ERE 25 B0 2 5D
i % 10:40 CREERE EHIER|EHIER | 5 (D] 1040 CHRE|ERE S
5 11:30 ARTRTEE = FI 88| HIED 5
C [®]12:20 BRERTEH ZEIER(ZEHIER| | O
®] 13:10 CRE|RTH o R
© DQ-QNF—LIIEZ2% sHES SIBREZHELLET,
O #bY2EHEDOF—LIZHFFITEZSENLET,
OFF—LHE[ISETHELELET, 108298 kR




	審判割当表

